W il ol 123 (5

olod 0 yLows (8 @NOURICO.IR €:>mmNOURICO.IR

A4)Y #F4 YYA¥
S1TY) AAZA—TT]) 40

Y1 SH — paedd (siams oy > — (> (o @



P4
A £
!
[0 NN r‘}
S
== || ; f
o — —
I 7
_:_ = e - —_———— \\\\_E >
PR
L0 < ¥ L A NN N W A
T [
B || G[ S0 4017 /
L
| A [ B E F G H M

37 | 110 |2.5[22.5]123 | 120 | @45 | @30 [105 |17 | 8 | 33.3 | @120 | M10*25-8.8
47 133 3 | 31 |153|150| @50 | @35 [132 22|10 | 38.3 | @120 | M12*30-8.8
57 [ 150 | 3 |33.5]|170 | 166 | @55 | @40 [142 |29 |12 | 43.3 | @120 | M16*40-8.8
67 | 161 |3.5]|37.5]|184 | 180 | @55 | @40 [ 156 |29 |12 | 43.3 | @160 | M16*40-8.8

77 193 | 4 |35.3]|213|210| @70 | @50 {183 32|14 | 53.8 | @200 | M16*45-8.8
87 |224 | 4 | 43 | 24 |240| @85 | @60 | 210 |36 |18 | 64.4 | @250 | M20*50-8.8
97 [274| 4 |48.5(303|300| @95 | @70 [ 270 (34|20 74.9 | @300 | M20*50-8.8

107 [ 312 |2.5|69.5(353[350| @18 | @90 | 313 | 40|25 95.4 | @350 | M24*60-8.8
127 [373 25| 79 | 413 | 410 | @135 | @100 |373 |38 |28 |106.4)| @450 | M24*60-8.8
1571 455| 7 | 118 |503|500( @155 | @120 [460 |36 |32 [127.4| @550 | M24*60-8.8

Ahn

(6) @NOURICO.IR &a=rzm NOURICO.IR

yr

1Y £F4 YYAF i YA) S — B ekt Sl i — (> s
FIas+q) —Fre.YATF oy



—t -
—— —
| —
—
O N N
O
5 —— — —GEW e e = |
O <
I
y A
-
FA37B| DR63 | DT71D | DT80 | DTS0 | DV100M | DV100OL
B B L LS 353 377 427 | 468 520 550
L 298 313 363 | 383 435 465
AC 132 145 145 | 197 197 197
LBS 246 270 320 | 361 413 443
LB 191 206 256 | 276 328 358
FA47B| DR63 | DT71D | DT80 | DTS0 | DV100M | DV100L
LS 439 463 | 512 | 554 606 636
L 384 399 | 449 | 469 521 551
AC 132 145 | 145 | 197 197 197
LBS 246 270 | 320 | 361 413 443
LB 191 206 | 256 | 276 328 358
FA57B| DR63 | DT71D | DT80 | DT90 | DV100M | DV100L | DV112M | DV132S | DV132M
LS 410 433 | 483 | 524 574 604 604 652 706
L 355 369 419 | 439 489 519 524 572 594
AC 132 145 | 145 | 197 197 197 221 221 275
LBS 240 263 | 313 | 354 404 434 434 482 536
LB 185 199 249 | 269 319 349 354 402 424
FA67B|| DR63 | DT71D | DT80 | DT90 | DV100M | DV100L | DV112M | DV132S | DV132M
LS 424 447 | 497 | 538 588 618 618 666 720
L 369 383 | 433 | 453 503 533 538 586 608
AC 132 145 | 145 | 197 197 197 221 221 275
LBS 240 263 | 313 | 354 404 434 434 482 536
LB 185 199 | 249 | 269 319 349 354 402 424

+41Y #¥4 YYa¥

FPale o2 —FTR.YaTF




—=m e
e —
| —
|— fE—
-
O NN
= = e — _mw e e 0 |
2 :
(
A
o
FA77B DR63 DT71D DT80 DT90 DV100M | DV100L | DV1i2M DV1325S DV132M | DV132ML | DN160M
LS 447 470 520 559 609 639 638 683 737 797 797
L 392 406 456 474 524 554 558 603 625 685 685
AC 132 145 145 197 197 197 221 221 275 275 275
LBS 234 257 307 346 396 426 425 470 524 584 584
LB 179 193 243 261 311 341 345 390 412 472 472
FAB7B DT80 DT90 DV100M | DV10OL | DV112M | DV132S | DV132M | DV132ML | DV1eOM | DV1eOL DV180
LS 545 585 635 665 663 708 762 722 722 9513 985
L 481 500 550 580 583 628 650 710 710 757 829
AC 145 197 197 197 221 221 275 275 275 331 331
LBS 302 342 392 422 420 465 519 57¢9 579 670 742
LB 238 257 307 337 340 385 407 467 467 514 586
FA97B DT90 DV100M | DV1DOOL |DV1i2m | DV132S | DV132M | DV132ML | DV160M | DV160L DV180 DV200
LS 639 689 719 718 763 817 877 877 968 1040 1088
L 554 604 634 638 683 705 765 765 812 884 932
AC 197 197 197 221 221 275 275 275 331 331 394
LBS 336 386 416 415 460 514 574 574 665 737 785
LB 251 301 331 335 380 402 462 462 509 581 629

udu O)m
1Y £FA YYAF

FPale o2 —FTR.YaTF

(&) @NOURICO.IR

Ahn

=xsITD NOURICO.IR

yr

YA) N — aeld (Gt Sl i — (9> saw Q)




—=m e |
| — -
| - —
|— fE—
-
O NN
| —=1 | | ©
O :
(
P A
-
FA107B || DV100OM DV100L |DV1ii2m | DV132S | DV132M | DvVi32ML | DV16OM | DVi1eOL DV180 | DV200 DV225
LS 733 763 762 807 861 921 921 1012 1084 1132 1214
L 648 678 682 727 749 809 809 856 928 976 1058
AC 197 197 221 221 275 275 275 331 331 394 394
LBS 380 410 409 454 508 568 568 659 731 779 861
LB 295 325 329 374 396 456 456 503 575 623 705
FA127B || DV132M | DV132ML | DV160M | DV160L DV180 Dvz00 Dv225 Dv250M | DV280S | D280M
LS 906 966 966 1057 1129 1177 1259 1378 1378 1530
L 794 854 854 201 973 1021 1103 1193 1193 1319
AC 275 275 275 331 331 394 394 510 510 537
LBS 493 553 553 644 716 764 846 965 965 1117
LB 381 441 441 438 560 608 690 780 780 906
FA157B | DV132ML | DV160M | DV160L | DV180 DV200 DV225 DV250M | DV280S | D280M | D315S | D315M
LS 1048 1048 1139 1211 1259 1341 1459 1459 1638 1706 1757
L S00 S00 983 1055 1103 1185 1274 1274 1427 1478 1529
AC 275 275 331 331 394 394 510 510 537 612 612
LBS 545 545 636 708 756 838 956 956 1135 1203 1254
LB

uﬂu O)m
)Y SFAYYAF
CTTIPC I TR T T T

(&) @NOURICO.IR

Ahn

uexITD NOURICO.IR

yr

YA) N — aeld (Gt Sl i — (9> saw Q)




